L6214EO SYNERGY PANEL 800 BRT/SIL P/GON CLEAR UK
consists of: x1 - L6231EO SYNERGY FXD PNL 800 BRT/SIL PENTAGON UK
(Pack 1)
x1-L6232EO SYNERGY DOOR 800 BRT/SIL PENTAGON UK
(Pack 2)

L6215EO SYNERGY PANEL 900 BRT/SIL P/GON CLEAR UK
consists of: x1 - L6233EO SYNERGY FXD PNL 900 BRT/SIL PENTAGON UK
(Pack 1)

\ /‘ x1-L6234EO SYNERGY DOOR 900 BRT/SIL PENTAGON UK
=~ —3

(Pack 2)

=

SYNERGY UK Instruction Number: 4842

Narrow Side Wide Side
= Inside = Outside
adjustment I B adjustment
< Fi o Fi TS
iz adjustment .adiustment F2
e N

i

VA



shori
Stamp

shori
Stamp

shori
Line

shori
Text Box
SYNERGY UK Instruction Number: 4842


Pack 2
Door

Door

Components

42}
m
=

Moulding
Pack

Pack 1
Panels

S
\jﬂiﬁl No.6 x 10
Csk Screw

MNo.8x 8
Pan Head

Frame
Components

Csk Screw

[toe

R,

x16

|
Wel — |
w8 | | s | Nesws .|
Wall Plug Pan Head Pan Head =26 J 0, g
L | h view from inside
Ref. Description Spares Part No. Ref. Description Spares Part No.
F1 Panels (new pack required) M1 Pent Adjuster Top Cap LV883AA
F2 Pentagon Profile LV805EO M2 Pent Profile LH Top Cap LV881AA
W1l Wall Plug (not available separately) M3 Pent Profile RH Top Cap LV882AA
W2 No.8x35mm Pan Hd Screw LV86567 M4  Adjuster Top Cap LV854AA
W3  No0.8x8mm Pan Hd Screw LV86667 M5 Wall Profile LH Top Cap LV855AA
W4 Wall Profile Midg LV867LJ M6 Wall Profile RH Top Cap LVB56AA
x  Wall Fixing Pack LV86167 M7 Rail Pivot Block Cover Midg LV857AA
contains: (x8 W1, x8 W2, x16 W3, x8 W4) M8 No.6x10 CSK Screw LVv87667
D1 Wall Profile LV802EO M9 No0.8x8mm Pan Hd Screw LV86667
D2 Cover Profile LVB0O3EO M10 Screw Retainer Moulding LV879LJ
D3 Door (new pack required) M11 Screw Cap Moulding LV8B0AA
D4 Pivot Door Bottom Seal LVv81767 M12 No.8x18mm CSK Screw LV82267
D5 Handle Assembly LV845AA
(includes all fixings required) X  Pivot Roller Catch Assembly LV875LJ
x  Handle Screw LV85867 (Complete assembly with 2 fixing screws)
X Handle Gasket LV85967
x  Handle Cover Cap Mldg LV860AA X  Pivot LH Outer Moulding LV884AA
x  Handle Spares Pack LV821AA (pivot cover cap fits onto Pivot Retainer Moulding)

contains: (x2 screws, x4 gaskets, x2 cover caps)

X  Glazing Seal 2M length LVv81367 X

Pivot RH Outer Moulding

LV885AA

(vertical seal holds panels into aluminium profiles)

x  Pivot Door Closed Side Seal LVv81667
(vertical seal that fits in aluminium at pivoting side)

(pivot cover cap fits onto Pivot Retainer Moulding)

x  Pivot Door Open Side Seal LVv81867
(vertical seal that fits in aluminium at open side)

X  Pivot Retainer Moulding LV886LJ
(the retaining screws LV88767 go through this into
the Pivot Block LH & RH Castings)

X No0.8x12mm Pan Hd Screw LV87467
(screw holds the pivot castings into the aluminium)

X Pivot Block Gasket LV88867

x  Infold & Top Caps Mldg Pack LV823AA (fits between the Pivot Block LH & RH castings and the glass)
contains:( x2 M4, x1 M5, x1 M6)
X  Pentagon Mldg Pack LV828AA X  Pivot Block LH Casting LV889AA
contains:( x2 M1, x1 M2, x1 M3, x2 M4, (this casting fits onto the glass door)

x1 M5, x1 M6, x2 M7, x6 W3,

x2 M12, x6 M10, x6 M11) x  Pivot Block RH Casting LV890AA
X  Pivot Block Pack LV829AA (this casting fits onto the glass door)
contains:(x1 LV884AA, x1 LV885AA,

x2 LV886LJ, x4 LV88767, x  Rail Pivot Block LH Casting LV892AA

x4 W3, x2 LV88867,
X1 LV889AA, x1 LVB90AA,
X2 LV891LJ, x1 LVB89AA,
x1 LV890AA, x2 M7)

(this casting fits onto the frame aluminium)

x  Rail Pivot Block RH Casting LVB93AA
(this casting fits onto the frame aluminium)

X Mb5x18 CSK Screw
(pivot block retaining screw)

LVv88767

X  Pivot Pin LV891LJ



shori
Stamp

shori
Stamp

shori
Text Box
Ref.    Description                              Spares Part No.
 F1     Panels                           (new pack required)
 F2     Pentagon Profile                             LV805EO 
 W1    Wall Plug             (not available separately)
 W2    No.8x35mm Pan Hd Screw            LV86567
 W3    No.8x8mm Pan Hd Screw              LV86667
 W4    Wall Profile Mldg                            LV867LJ
   x     Wall Fixing Pack                             LV86167
   contains: (x8 W1, x8 W2, x16 W3, x8 W4)
 D1    Wall Profile                                     LV802EO
 D2    Cover Profile                                   LV803EO
 D3    Door                               (new pack required)
 D4    Pivot Door Bottom Seal                   LV81767
 D5    Handle Assembly                            LV845AA
  (includes all fixings required)
  x      Handle Screw                                  LV85867
  x      Handle Gasket                                 LV85967
  x      Handle Cover Cap Mldg                  LV860AA
  x      Handle Spares Pack                        LV821AA
  contains: (x2 screws, x4 gaskets, x2 cover caps)
  x      Glazing Seal 2M length                   LV81367           
  (vertical seal holds panels into aluminium profiles)
  x      Pivot Door Closed Side Seal           LV81667
  (vertical seal that fits in aluminium at pivoting side)
  x      Pivot Door Open Side Seal             LV81867
  (vertical seal that fits in aluminium at open side)
  x      No.8x12mm Pan Hd Screw            LV87467
  (screw holds the pivot castings into the aluminium)
  x      Infold & Top Caps Mldg Pack          LV823AA
  contains:( x2 M4, x1 M5, x1 M6)
  x      Pentagon Mldg Pack                       LV828AA
  contains:( x2 M1, x1 M2, x1 M3, x2 M4,
                  x1 M5, x1 M6, x2 M7, x6 W3,
                  x2 M12, x6 M10, x6 M11)
  x      Pivot Block Pack                             LV829AA
  contains:(x1 LV884AA, x1 LV885AA,
                 x2 LV886LJ, x4 LV88767,
                 x4 W3, x2 LV88867,
                 x1 LV889AA, x1 LV890AA,
                 x2 LV891LJ, x1 LV889AA,
                 x1 LV890AA, x2 M7)

shori
Text Box
Ref.    Description                              Spares Part No.
 M1    Pent Adjuster Top Cap                   LV883AA
 M2    Pent Profile LH Top Cap                LV881AA 
 M3    Pent Profile RH Top Cap                LV882AA
 M4    Adjuster Top Cap                            LV854AA
 M5    Wall Profile LH Top Cap                 LV855AA
 M6    Wall Profile RH Top Cap                 LV856AA
 M7    Rail Pivot Block Cover Mldg            LV857AA
 M8    No.6x10 CSK Screw                       LV87667
 M9    No.8x8mm Pan Hd Screw              LV86667
 M10  Screw Retainer Moulding               LV879LJ
 M11  Screw Cap Moulding                      LV880AA
 M12  No.8x18mm CSK Screw                 LV82267

  x      Pivot Roller Catch Assembly          LV875LJ           
  (Complete assembly with 2 fixing screws)

  x      Pivot LH Outer Moulding                LV884AA
  (pivot cover cap fits onto Pivot Retainer Moulding)

  x      Pivot RH Outer Moulding                LV885AA
  (pivot cover cap fits onto Pivot Retainer Moulding)

  x      Pivot Retainer Moulding                  LV886LJ
  (the retaining screws LV88767 go through this into
   the Pivot Block LH & RH Castings) 

  x      Pivot Block Gasket                          LV88867
  (fits between the Pivot Block LH & RH castings and the glass)

  x      Pivot Block LH Casting                    LV889AA
  (this casting fits onto the glass door)

  x      Pivot Block RH Casting                    LV890AA
  (this casting fits onto the glass door)

  x      Rail Pivot Block LH Casting             LV892AA
  (this casting fits onto the frame aluminium)
 
  x      Rail Pivot Block RH Casting             LV893AA
  (this casting fits onto the frame aluminium)

  x      M5x18 CSK Screw                           LV88767
  (pivot block retaining screw)
  x      Pivot Pin                                           LV891LJ


shori
Stamp

shori
Stamp

shori
Stamp

shori
Stamp

shori
Stamp

shori
Stamp

shori
Stamp

shori
Stamp

shori
Stamp

shori
Stamp

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Stamp

shori
Line

shori
Line

shori
Line

shori
Line




